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Answer Key 

Part II 

A. 1. Because he was crazy about / loved music. 

2. The disco and Christmas party 

3. Parents and students. 

4. It ended with DJ taking/playing his guitar and singing. 

5. To build up their self-confidence. 

       B.   1. F    2.T    3.T    4.F    5.T 

       C.   1. forget     2. thin     3. always     4. give     5. ended  

       D.   1.d    2.e    3.a    4.g    5.c 

Part III 

A. (10x1=10) 

1.a    2.c    3.b    4.c    5.b    6.b    7.a    8.c    9.b    10.c 

B.   ( 5x2=10) 

 
  1. said that he had made     

2. have been here 

3. wish you didn’t live 

4. so interesting that 

5. wasn’t finished 

C.       (10x1=10)            

1. building      2. neighbourhood       3. different      4. bigger     5. equipment      

6. easily     7. careful       8. successful        9. harder      10. usually 

D.      (10x1-10) 

 a,   or,  most,   no-one,   whole,   said,   another,   which,   they,   advice.                                  


